10kV 0.25mFx16x5 =20mF 490kJ(7kV 2.7mx1.5mx0.9mx5 3.5tx5
5kV 0.534mFx28x4  =60mF 750kJ(5kV 3.68x1.45x0.95x4 3tx4
5kV AmFx7=28mF 350kJ(5kV 1.05mx1.25mx1.3mx7 1.5tx7
200V 2000F 40kJ(0.2kV 1.5mx1.4mx1.77m
JIPP 5kV 0.8mFx36=28.8mF 360kJ(5kV 0.6x4.8x1.8(2.8) 3tx2
5kV 0.2mFx20=4mF 50kJ 5kV 2.1x0.75x2.4 0.8t
10kV 1.2mFx8=9.6mF 235kJ(7kV 2.6x0.9x2.6 2.5t
1.5kV 10mFx30/6=50mF 45kJ(1.5kV 2.6mx0.7mx1.6m
5kV 0.2mFx20=4mF 50kJ(5kV 2.1mx0.7mx2.4m 1t?
250V 30mFx80=2.4F 75kJ(0.25kV ) | 0.59mx1.22mx
OH+PF4(1turn)  0.9mH 52mOhm
TF 0.5-0.6mH 10mOhm
PF3 (16turn-Series):~6mH  55mOhm

PF1(6turn)PF2(6turn)PF5(1turn)  0.2mH/

9turn-9turnx4=36turn

D=0.92m L=0.58m

1.1mH/29mOhm(36turn)-0.068mH/1.9mOhm(9turn/para)

5turn-5turnx4=20turn

D=0.49m L=0.37m

0.16mH/8.7mOhm(20turn)-0.01mH/0.54mOhm(5turn/para)

REPUTE?

0.3mH/10mOhm




(80sq)

0.23mOhm/m 0.24mOhm/m
(22sq)
0.82mOhm/m 1.1mOhm/m
(22sq)
0.79mOhm/m 1.1mOhm/m
S=0.4m x 0.4m, 1=(0.8m x 1.6m) x 2=4.8m: L=N"2 x 0.0165 mH (mu=500 )

t=4mm, w~100mm, L(1turn)~2m: R=0.085mOhm/turn
t=4mm, w~100mm, L~1.6m: R=0.136 Ohm
24turn(8para): 9.5mH/0.26mOhm  48turn(4para): 38mH/1.02mOhm  96turn(2para),.... 192turn: 608mH/16.6mOhm

2turn(96para): 0.066mH/0.0032mOhm  16turn(12para): 4.2mH/0.205mOhm



